. Jane wins £802,649 on the lottery one week and £300,876 on a scratch
card the following week. How much does she win in total?

. Martin had £467,330. He went shopping and spent £126,309. If he
earned another £366,892 how much money does he have now?

. Scott bought twenty four bags of sweets with eighty six pieces in each
one. How many sweets did he have in total?

. The Headmaster is taking all of a secondary school on a trip to Alton
Towers. There will be 246 children and 18 adults going along. If each
visitor needs to wear 3 wristbands, how many will the whole group
need?

. Gilbert was playing a video game and had a score of 200,000. In a hard
part of the game he lost 106,848 points. If he got 329,404 more points in
the next level, how many points would he have?

. The school ordered 230,868 fish fingers and 416,092 chips for a very
hungry school. But, if 32,909 chips and 55,712 fish fingers did not get
eaten how many of each item were used?

. Joe loved Lego. He had 576,175 Lego bricks before selling 216,175 of
them. In a few months time Joe was featured on the news as “The boy
with one million and one lego bricks”. How many more bricks had he
acquired?

. A salesman bought 48 backpacks for £576. He sold 17 of them for £18 to
friends, and the rest were sold to a shop for £47 each. How much was
the salesman’s profit?

. Bristol zoo recorded its visitors over a four week period. In the first week
there were 430,242 visitors. In the second, 639,242 people visited the
zoo. In the third and fourth week, a combined total of 1,620,942 people
visited the zoo. How many people visited the zoo in the four week
period?
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